IBPS RRB CLERK (PRE)-02/2021

Q-1 Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
eng hin  provided in the statements are sufficient to answer the question. Read both the statements. Give answer:
= fRRTTTIAF I T THFTA G AT 3qF 419 ST I FA7F [T g g §) Fotg A B a1 |/ fRaraarsreryg F 39%
T % frwaata g ITE 91 FA91 F1 I A TITTAR
What is the code for “Distance™?
"Distance" % foTT g F47 22
L. “8 3” is the code for “Are Distance”.
II. “0 8” is the code for “India Distance”.
1. "8 3", "Are Distance" % foIT & 81
IL. "0 8", "India Distance”"  forw 1T B
01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement I1 alone are not sufficient to TS A 11§ STeT T T IAL & 6 (o7 TFTH § AT HA9 [ F STT 3Tahel T T 3L a4 &
answer the question. T TATH ol gl
7% T [ § ST T T I a4 & (0
TATH & At FAF [ H ST et T F1
I < o Torw oty 7t 8l
03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer e oo 1 3 11 21 7 THeTeRe STeT I3 &7 39< 29 & ﬁ’m ER RS :r;P[ %I
the question.
T AT A1 FAF 1 H ST oavet AT FH 11
H TTAT el T T 3T & o forT a7y
2l
0S. Ifthe data in both statements I and II
together are necessary to answer the
question.
e o [ 3T 11 1 T [HATse I &7
3T A & oI sraeTh 2
Solution for Question 1 Ans Key: 5
The data in both statements I and II together are necessary to answer the question.
FAT 1 37T 1L AT T THATRT T T 3T 4 F (10 Ma97F 2l
Q-2 Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
eng provided in the statements are sufficient to answer the question. Read both the statements. Give answer:

9 fRTTTTAF IR THFIA G A TITqF A9 ST FITFATH [T TEw a7 §)| Fota A B w91 # fRaraarsrervg F 39
7 % frgaata § ITE 91 FA91 F1 IfEC A TITTARI

What is the age of X?
X T S AT 22

I. K is 25 years younger than X.
IL. K is 45 years old.

LK, X & 25 99 grer 21

I K &7 3117 45 a9 g

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I

to answer the question, while the data in alone are not sufficient to answer the question.

statement II alone are not sufficient to T Fow [1 H 7T To7 T I 34 F foI7 T37H g ot F7 [ H TTeT Tl T F7 IAL 3
answer the question. o 7=t = 2

T Fo | F STET I97 97 I a7 & (o0

TITH § Tateh HAF 11 H STeT el T T

ERRECEA TRk EEIE]

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer Tt T 1 3T [ ST T THEATHRT 7T I97 T S &4 F {oI0 941 21 21
the question.
7% T AT FAT [ H STeT el AT FAT 11
H STET STl T T 3L & 6 (o0 7]
2l
0S. Ifthe data in both statements I and I
together are necessary to answer the
question



Tfe o 1 3T 1 217 7 Foemehe o7 7
IAT I F o0 9T+ gl

Solution for Question 2 Ans Key: 5

eng hin

The data in both statements I and II together are necessary to answer the question.

A 1 3 11 IAT HT [HATHRL T HT IAL <A & [0 AFeTF 2

Q-3

eng hin

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both the statements. Give answer:

9 fRTTTTAFITT THFTA ] A TITqF 419 ST FITFATH [ AT TEw g §)| Fota A 3 w91 |/ fRaraarsterwg ¥ 39¢
7 ¥ forguata & a7 1 w977 F1 afg shTsaTdfim

A is in which direction with respect to B?

B & #aw H, AT feer # 22

I. A is towards west of B and south of C.
II. K is towards south-west of B and south of

I A, BF 9f3® # 3w C F 2famr # 3
I K, B % zferor-afam sz A ¥ feror 7 21

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement I1 alone are not sufficient to T o 11 ST T T ITL 4 o (o0 TATH g STaieh H2 [ H STar ool 957 7 39 39 %
answer the question. forT gt et 2
T2 Faw [ | STeT 17 FT 3T 3 & o
TATH & Sath FAT [ H STeT The T 7
I I F o a=Te T2 2
03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement 11 alone are sufficient to answer T e 1 30T 11 ST 7 THeTeRe 21T 957 7 39< 29 & ﬁ"'f TqTe Fl—apf %I
the question.
T I a7 FF [ | STET 37l IT 97 11
T AT el W57 T IO o o (o7 9aT]
El
05. If the data in both statements I and 1T
together are necessary to answer the
question.
T Fo [ 30T [ A1 1 FHemens o1 7

Solution for Question 3 Ans Key: 1

Q-4

The data in statement I alone are sufficient to answer the question, while the data in statement II alone are not sufficient to answer the question.
FAT | H STET T5T FT STAL &7 F [0 TITH ¢ A1 FAT 11 H STST el T2 T 3L 2 F (o0 G318 gt 2l

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both the statements. Give answer:

TR RTTCTAFTIIR THF IR SHILITqH A T HITHFH1H [T Feg e F) Aoty HiR™rT o w91 § AT Iqr e w9 % 39¢
27 % fro ooty & vt 9t Fa91 F1 ofFg shrsar i

How is C related to P?

C, P | e WY gaterd 82

I. C has two brothers.
IL. R has a daughter.
LCHITATEE

IL. R T T3 T 2

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I

to answer the question, while the data in alone are not sufficient to answer the question.

statement I1 alone are not sufficient to T Fo [1 7 7T TT FT I 3 5 [oIT TATH § Tath FA9 [ H TTET el T F7 IqAL 3 &
answer the question. o gt =1 2

e AT [ § STET T T I o 6 o0

T § Tk FAF 11 H STeT el T &7

ERRECEA TR IEF ]

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer Tf FAT 3T [ AT T THEATHRT 7T I97 T 3 a4 F forT 91 427 21
the question.
7 T AV FAT [ H STeT 3t AT FA7 11
T ST 3Tl W37 T I o o o7 9T

2l



05. Ifthe data in both statements I and II
together are necessary to answer the
question

e o [ Y 11 A1 T T 57 &7
I I F T s )

Solution for Question 4 Ans Key: 4

eng hin  The data in both statements I and II together are not sufficient to answer the question.

A [ 377 1L IT T AT 27T 997 &7 I & % forw gty 731 g

Q-5 In the following questions, relationship between different elements is shown in the statement. These statements are followed by two
eng hin  conclusions I and II. Give answer—

e Tt 7, a3 13w € s acat § g gag aufaragr @)1 g9 7991 F qra 7 fased 11 frgag &) sacdifog

Statement - V>R, X< R,U<X, U>N
Conclusion - ) U< R (A V>X
FIT- V>R, X< R, U<SX,U>N
=g - U< R ADV>X

01. If only conclusion I is true. 02. Ifonly conclusion IT is true.
Tfs fAed [ 97 8 Tfs Aed 19 g

03. Ifeither conclusion I or IT is true. 04. TIfneither conclusion I nor IT is true.
Ffzarar 4t e a2l TRATITTE T TS

05. Ifboth conclusion I and II are true.
T s 1 11 91 97 2|

Solution for Question 5 Ans Key: 1

Statement-V>R>X>U>N
Conclusions —

() U <R (True)

(IhV > X (False)
$YA-V>R>X>U>N

sy —

() U <R ()

IV > X (379<T)

Q-6 In the following questions, relationship between different elements is shown in the statement. These statements are followed by two conclusions I and II.
Give answer—
e st ®, f8 77 ot § i qedi & &= "arer SUTAT T g1 9 FAAT 5 972 &7 (4 1S 11 3w e 81 39w difm

Statement-A>C, B<R<(C,N>B, N<P
Conclusion- (I) B> C anB<P
FIT-A>C,B<R<C,N>B, N<P
AT - B>C ) B<P

01. Ifonly conclusion I is true. 02. Ifonly conclusion 1L is true.

Tfx fAed [ 97 8 Tfz fAed 19T g

03. Tfeither conclusion I or IT is true. 04. TIfneither conclusion I nor IT is true.

Ff AT ar 13 fh M a7 2 IRAT I LTS MTT R

05. Ifboth conclusion I and II are true.

Tty R [ 7 11 S e £

Solution for Question 6 Ans Key: 2
enghin  Statement-A>C>R>B<N<P

Conclusion -

(1) B > C (False)

(I) B <P (True)

FYUT - A>C>R>B<N<P

sy -

(D) B> C (3199)

(II) B <P (A@<T)

Q-7 In the following questions, relationship between different elements is shown in the statement. These statements are followed by two



eng hin

conclusions I and I1.Give answer—

eyt 7, 23 19 w91 § At acat & Sia qag qiar AT gTHIAT F I <7 AFH [T Frgag §) STy

Statement- S<R<Q<P,P=T>U

Conclusion-1. S>U IL.Q=U
FIT-S<R<Q<P,P=T>U
Assf-LS>U ILQ=U

01. Ifonly conclusion I is true.

Tfx fAd [ae7 B

03. Ifeither conclusion I or I is true.

FfE AT ar 131 R e )

05. Ifboth conclusion I and IT are true.
Tty e [ 11 ST & 2

Solution for Question 7

eng hin

Q-8

eng hin

S<R<Q<P=T<U

02.

04.

If only conclusion I is true.

iz fAed 1 aeT 2

If neither conclusion I nor II is true.

FRAA 1T TE T L

Ans Key: 4

In the following questions, relationship between different elements is shown in the statement. These statements are followed by two

conclusions I and II. Give answer

o wort #, f23 12wt § fAfyrw acat & fiw adg qqtar a1 1 T FIA0 % ar < fAewd 121 frg g §) s g

Statement -8 =9>10>5, 8§<1<2

Conclusion- I. 8 > 5 I.2>9
FIT-8=9>10>5, 8<1<2
T -1.8>5 IL.2>9

01. Ifonly conclusion I is true.

afz g 7 2

03. Ifeither conclusion I or I is true.
Tl naT g

05. Ifboth conclusion I and II are true.
e Fohd 19 11 M1 & 2

Solution for Question 8

Q-9

2>1>8=9>10>5

02.

04.

If only conclusion Il is true.

7T fAehd 177 21

If neither conclusion I nor II is true.

T IaT T T TT 2

Ans Key: 5

In the following question, assuming the given statements to be true and find which of the two conclusions I and II given below them is/are

definitely true. Give answer

fFafafag w4, fRETTFAFT F1T G977 a1 & stTFra frire i A= R rg =t et 1T a @ fyaar fataasoa aca g/

HEAAES

Statement: G>H< [<]J>K

Conclusions : 1. J>G II. K=G

FIT4: G>H<I<J>K
ffrese: L J>G ILK=G

01. If only conclusion I is true.

7ty Faer Ry [ 97 81

03. Ifeither conclusion I or I is true.

i AT AT 13T R 1 77 2

05. TIfboth conclusions I and II are true.

Tfe T [ 7 11 4T 7 2

Solution for Question 9

eng hin

Statement: G>H<I<J>K
Conclusions :

1. J> G (False)

II. K=G (False)

fYed :G > H<I<J>K
ey

L ] > G (sw3)

IL K = G ()

Statement: G>H<I<J>K
Conclusions :

02.

04.

If only conclusion II is true.

7fY Fhaer Ry 11 9T 2

If neither conclusion I nor II is true.

T TATITET T 2

Ans Key: 4



I. J> G (False)
II. K=G (False)

FYT :G>H<I<J>K
sy :

L J > G (sma)

IL K= G (sm)

Q-10

eng hin

These questions are based on the following letter/number/ symbol arrangement. Study it carefully and answer the questions.
7 w7 fe AqVE @I T ATEIT TTAGTIRG B | TAFHT EATT § HEATT L 3t TTIT F IAL -

SUOVBEZFXRKISMNLP%7649*$@123"

How many such symbols are there in the above arrangement, each of which is immediately preceded by a number but not immediately followed by a

symbol?
UL AGET | UH oo T &, o8 & ToF & qid Tgel U AT A1 Q2 918 U T 1% A5l 82

01. None 02. One
EIEE K TH
03. Two 04. Three
ar T
0S. More than three
A 7 srfer

Solution for Question 10 Ans Key: 2
3/\

Q-11 These questions are based on the following letter/number/ symbol arrangement. Study it carefully and answer the questions.
T I {9 TqUE SIS F ATEIT T SMATIG & | THRT &TH F FETTT HL ST TTAT F SAL -
SUOVBEZFXRKJSMNLP%7649*S@123"

Which of the following element is Eighth to the right of Sixth from the left end?
Fefafe #§ & F19-91 9 918 R T3S F 09 541 22
01. * 02. §
03. ~ 04. M
05. None of these
TH A FIE T
Ans Key: 4

Q-12 These questions are based on the following letter/number/ symbol arrangement. Study it carefully and answer the questions.
T U e AqUEA =TS TF ATEIT T SMATIT & | THHRT &ATH & ASTIT HL ST TTATF SALI-
SUOVBEZFXRKJSMNLP%7649*$@123*

What will come in place of the question-mark (?) in the following series based on the above arrangement?
YL HAEAT o AT T FAHfored aer § werar=a =g (?) F T 9% F47 A0
UVZ, XKM ,L%4, (?)
01. %NS 02. $70
03. *@3 04. *RZ7Z
05. None of these

TAH F ATE TR

Ans Key: 3

Q-13 These questions are based on the following letter/number/ symbol arrangement. Study it carefully and answer the questions.

enghin ¥ ¥ fAH AXVACIUISTH FIEAT I ALTIG §| THHT EATA § LTI HL AT TATH IALR-

SUOVBEZFXRKIJSMNLP%7649*$@123"


mailto:*@3

How many such numbers are there in the above arrangement each of which is immediately preceded and followed by a number?

I AGET | UHT fahat §eaT0 g e & T % Qi Tgo oiiY a78 § U 97 82

01. None 02. One
TS TRl TH
03. Two 04. Three
ar q=
05. None of these
TAH F FS TR0
Solution for Question 13 Ans Key: 4
eng hin 764, 649, 123
Passage for Question 14, 15, 16 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(14-16R)2020)
eng hin Passage
In a certain code language, some words are written in the coded form which is given below.
uF Mg Fis aTaT H g A Fredg FF or@ qra g AU A 33 w3 f)
"Me I You They" is writtenas "14 3 6".
"Me If You Go" is writtenas "1 27 3".
"They Give If Go" is written as "4 52 7".
"Go Give Why [" is written as "6 79 5".
"Me I You They" FT "14 3 6" foraT st 21
"Me If You Go" T "1273" fer@t Strar gl
"They Give If Go" T "4 52 7" foraT saT 21
"Go Give Why I" FT " 67 9 5" foraT ST 21
Q-14 What will be the code for "They" in that code language?
FHT T ATIT H "They" % TorT =T e 21?2
01. 7 02. 9
03. ¢ 04. 4
05. None of these
TAH H TS TRl
Solution for Question 14 Ans Key: 4
Q-15  What will be the words for the code of "9 5 7 6" in that code language?
enghin  SHT IS WIOTH "9 5 7 6" FTe F fore T ore3 21472
01. WhyI YouGo 02. Give Gol Why
03. Why Give Go Me 04. 'Why Give Go They
05. None of these
TAH F ATE TE
Solution for Question 15 Ans Key: 2

enghin @M you ey —.1 4O

@&;ﬂ?}; Go —)x!xé_?. ®

ey Gve Meo— 2 8 Az

Q-16  How will "Give" be written in that code language?
eng hin  IHT IS WTUT H "Give" &+ fer@T STATT?



01. 9 02. 5

03. 4 04. 3
05. None of these
e tL i
Solution for Question 16 Ans Key: 2
eng hin
@M You They —1, 4 O[E]

@MYy co —1 AT O

ey Gve Moo— 2 5 Az

Passage for Question 17, 18, 19 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(17-19R)2020)
eng hin Passage

Study the following information carefully and answer the given questions —

FRrerferfera STt 1 errgae afe i = fora st 3 3= €

Amongst five friends, each have different weight. P is heavier than B but lighter than A. A’s weight is 70 kg. S is lighter than only K. The one who is lightest is 50 kg
and one who is heaviest is 72 kg.

o= Fo=TT T AT STT-31e1 21 P, B & AT 37T A T ZoahT g1 AFT AT 70 TFeaT 2] S, K & ZoarT 2| Forerat A2 7| &1 8 9 50 et &7 8 3T o7 "y
I E 72 AT AT R

Q-17 Who among them is heaviest ?

01. B 02. p
03. K 04. A

05. None of these
TAH FFTE T2l

Solution for Question 17 Ans Key: 3

K >8 >A>=P > B
712>271>70>65 2580

Q-18 Who amongst the following is the most likely to have 71 kg weight ?

e ¥ T fraert a5 71 R 2T Fshar 2 2
01. K 02. §
03. p 04. B
05. A
Solution for Question 18 Ans Key: 2

™ K>8>A>P>B
72>71>70>65> 50

Q-19  Who amongst the following can be 65 kg ?
eng hin ¥ H T FI7 65 Fert F1 & AT 2 ?

01. p 02. B
03. A 04. s
05. None of these
TAH A AL TRl
Solution for Question 19 Ans Key: 1

enghin K >~ g > A > P > B
72>71>70>65>50

Passage for Question 20, 21, 22 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(20-22R)2020)



eng hin Passage

Study the following information carefully and answer the questions given below:

Reforfad ST 7 SAIE® Teaae F T A1+ [0 70 F=77 % 39 &

Seven Priests R, Y, U, W, A, D and H are living in a floor of seven buildings from bottom to top (numbered 1 to 7) but not necessarily in the same order.
The priest W lives on the 4th floor. The priest D lives immediately above the 2nd floor. The priest Y lives on the topmost floor. The priest whose place value is 21
according to the English alphabet does not live on an even and the lowest floor. There are three priests between the priests R and A.

AT T R, Y, U, W, A, D 3T H 91 SHTEAT it U Hiorer § = 7 350% (511 | 7 7) 9% T8 78 & AT 2ol %7 | g1 STl 781 2
TS W =TT 6157 9% T8 81 TS D g8 6T F @i 9% TEd gl TN Y oY A5iSret 9% T2 d 81 TS fSree SiuStt auiHTe & SIqETe ST
21 § a8 9H AT O ¥ HaH A1+ 9T a1 97 Agi L@dl gl T R 3% A F 1= 9 ot &

Q-20  How many priests live between U and Y priests?

eng hin USﬁTYW%ﬁHﬁﬁﬁgﬁT&Qﬁ%q

01. None 02. Two
HTE TRl ar
03. Three 04. One
Rl e

05. Cannot be determined
BEURSE R ERISIREETI

Solution for Question 20 Ans Key: 4

Y
RIA
U
W

D
R/A
H

L M W

Q-21 Who lives on the even prime number floor?
FIT T AT AT AT T T2 57

01. Y 02. U
03. R 04. H
05. R/A
Solution for Question 21 Ans Key: 5

712y

Bl<=R/A

5=

4le W

3;._._. D

2= RIA

1l*H

Q-22  Who lives immediately below the floor on which the priest R lives?
eng hin 3 HISTAT & QA A= FlF T2l g OrF 9% [T R T84 82

01. YH 02. UH
03. w/U 04. H
05. R/A
Solution for Question 22 Ans Key: 2

eng hin

i

=B o o Oy
b=

IEUQCE{

Passage for Question 23, 24, 25, 26, 27 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(23-27R)2020)



eng hin Passage

Study the following information carefully and answer the questions given below.

Reforfad ST 7 LA IE® Teaae FE T A= f0 70 37 % 39 )

Eight people A, B, C, D, E, F, G and H belong to different city- L, J, K, L, M, N, O and P also their weight are different according to their body weight.

D belongs to P and his weight is 5 kg less than the weight of B. Both G and H do not belong to N and O. The weight of C is 45 kg but does not belong to M. E
belongs to O. The weight of F is 40 kg which is 8 kg more than the weight of B. The weight of H is just double than the weight of the person who belongs to P. One
person’s weight is 50 kg. F neither belongs to L nor M. B and G do not belong to I and J respectively. A belongs to I but his weight is not 50 kg. The person whose
weight is less than 45 kg does not belong to K. The person whose weight is 50 kg does not belong to O. B belong to L. The person who belongs to J is more than
50 kg. The weight of A and E are 25 kg and 35 kg respectively.

a3 =4t A, B, C, D, E, F, G 3T H fafss argei- 1, I, K, L, M, N, O 3T P& g 3T I <17 o ST AT ST STAT-37T 2

D,PHZ MR AR BF IR TS T FH I GATHIAI N ATO AT I C HFT AT 45 kg T ATFT M T TR 21 E, O A ZI FFT AT 40 kg 8 ST B
ST & 8 THUT SATET 81 H T 9T P & Tweferd =4feh % ST %7 &1 AT g U 1<k %7 91 50 FFFur 81 FAar LT & M ¥ €1 B 3T G FHer: [ J H 81 gl
A, 13 g TR 3Tt 91 50 BT 781 g1 a8 =af<p forereer e 45 B & &+ & K & 921 21 a8 =atn St 9w 50 R g O # 781 wear 81 B, grge LA
TZAT 21 98 AR S T &, T 972 50 F3hIT & SATaT 81 A 3T E T 9T /79T 25 3T 35 BRm gl

Q-23  Which city does G belong to?
eng hin G o oree & FwfeT 22

01. L 02. J
03. M 04. K
0s. None of these
TAH T FIE Aol
Solution for Question 23 Ans Key: 3
T | City / 2187

54 kgftehd
Q-24 What is the weight of D?
D =T AT e 22
01. 32kg 02. 50kg
32 50 fFaT
03. 27kg 04. 45kg
27 Frm 45
Solution for Question 24 Ans Key: 3
enghin [ ople /T | City / 21T | Weight / 51X
A ! 25 kg/feFam
B L 32 kg/fFam
C K 45 kg/fam
D P 27 kg/fFam
E 0 35 kg/faamm
F N 40 kg/foramr
G M 50 kg/fmamm
H ] 54 kg{%’:ﬂ

Q-25 How much weight of H is more than the weight of C?
enghin  H T 4T C 3 AT & Fhear samar 82



01 18kg 02. 45kg

18 frr 45
03. 12kg 04. 9kg
12 B 9 faFuT
Solution for Question 25 Ans Key: 4
englin [ ple /ST | City / 9:@T | Weight / 51X
A ! 25 kg/fFam
B L 32 kg/fFmr
C K 45 kg/fem
D P 27 kg/fam
E o 35 kg/feamr
F N 40 kgfﬁn'ﬂ'l’
G M 50 ke/famr
H J 54 kg/fmm

Q-26 The person whose weight is 50 kg belongs to which city?
eng hin TS/ = &7 472 50 T & 19 o g2 § gar g ?

01. L 02. J
03. M 04. K
0s. I;J;)_g:c\ogﬁﬂ-gs::ﬁ:
FHTE TE
Solution for Question 26 Ans Key: 3
eng hin . People / #19T -City | & _Weight SIIT-
A | 25 kg/fEm |
B ' Er
E > 4 ‘_45_@ !
E P 27 keffm |
E 10 |35 keffm |
NI B TR
H " |54 kg |

Q-27 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?

eng hin TSI o= # & AT (T TohTT & T G 2 ST UF HYE 40 2 , I 36 T o HH=(aq Tal 2 ?

0. G-M 02. E-O
03. B-L 04. D-J
05. A-1
Solution for Question 27 Ans Key: 4
englin [ ple /ST | City / 9/t | Weight / 8¢
A ! 25 kg/far
B t 32 kg/fam
C K 45 kg/fFm
D P 27 kg/fFam
E o 35 ke/fmam
F N 40 kgfﬁ\"JT
G M 50 kg/famr
H J 54 kg/famm

Passage for Question 28, 29, 30, 31, 32 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(28-32R)2020)



eng hin Passage

Study the following information carefully and answer the questions given below.

fRuafafaa staerd &1 samgd® sregaa 2 TR ooyt ® sacd)

There are eight persons A, B, C, D, P, Q, R and S sitting around the square table two on each side facing towards the centre. Two adjacent letter as appears in
English alphabet are neither immediate neighbor nor sitting in front of each other. A is third to the left of P who is facing north direction. Q is second to the left of D.

A and C are in the same line of the square table.

a3 =ARE A, B, C, D, P, Q, R 3T S &, & & W ST U< &I SATTh x ol AT G Fh 95 g FUSH AVHTAT | S | 3T a1l AT T AT UH-FAL 6 o
TEET & ST T & UH-THL o AT 95 gl A, P a7 & 6 #9 U2 g ST 39 f9m 67 3T 39 W@ 81 Q, D & a1 | oY ¥ ¥ g1 A 3T C a9 qrferaht

T TF & AT T E

Q-28  Who s facing in south direction?
eng hin  ZTeT0T for & 19 3@ T@T 82

01. S 02. D
03. B 04. 2and3
23T 3

05. None of these
TAH H (S ALl

Solution for Question 28 Ans Key: 4
D B
v b
R q—a
c—t> —~—S
1
R P
Q-29 Who is opposite to B?
01. A 02. D
03. p 04. Either 1 or3
qTAT 1 AT 3
05. None of these
TAY  FIS A8l
Solution for Question 29 Ans Key: 3
eng hin
D B
L ¢—a
c— s
T A
R P
Q-30  Whois facing West direction?
eng hin TS o & #i7 3@ @1 8?2
01. A 02. C
03. D 04. Both 1 and 2

1372



05. None of these

T ATE TE

Solution for Question 30 Ans Key: 5
eng hin
B B
A—> — 0
c—  H—s
T T
R P
Q-31  Who is the immediate neighbour of S?
enghin S FT T TETHT F1 82
01. B 02. Q
03. D 04. Both 1 and 2
13772
05. None of these
TAH HATE TG
Solution for Question 31 Ans Key: 2
B B
A—b> q—a
c—p> M A5
T T
R P
Q-32  Cis second to the right of whom?
01 s 02. Q
03. p 04. D
05. None of these
TAH HHIE Tol
Solution for Question 32 Ans Key: 4
eng hin
B B
A—b> d—a
c—fy  “—s
2~ A




Passage for Question 33, 34 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(33-34R)2020)
eng hin Passage

Study the following information carefully and answer the questions given below.

Fafafaa STasrd &1 eamgd® sregaa 3 AT A= frgag v ® s

A is 2 persons behind S who is exactly between D and F who is sixth from left end. D is an immediate neighbour of A. There are twenty persons in the line.

A, S T 37 AT NI @ET g ST T D 3T F o He § & ST A70 § 5 TI9 92 81 D, A FT T TSET gl T@T 7 99 A6 @2 gl

Q-33  How many persons are in between A and F?

enghin AT F % wexr o =afwe 22

01. 3 02. 4
03. 5 04. None
FIE TE
05. None of these
TAH H A TRl
Solution for Question 33 Ans Key: 2

eng hin AD : S F

15th

Q-34 What is the position of F from right end?
% BT A F e e v g2

01. 16th 02. 15th
03. 17th 04. 6th
05. None of these
TAH H ATS Aol
Solution for Question 34 Ans Key: 2

AD_S_F

Passage for Question 35, 36, 37, 38 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(35-38R)2020)
eng hin Passage

Study the following information carefully and answer the questions given below.

frafafaa sraerd o1 eamgd® sregaa L TR o ag v ® s

There are seven persons A, B, H, D, E, F and G in a family. They likes different colours red, yellow, green, blue, grey, black and white but not necessarily in same
order.

A is only brother of G who is grandfather of E. E is son of his grandmother H’s only son D who likes grey colour. F who doesn’t likes white colour is daughter-in-
law of H who is sister of B who likes red colour. E likes blue colour. G and H likes green and yellow colour respectively.

UF IRETT | 91d 2ARE A, B, H, D, E, F 31T G 8| T SeT-31eT 37 AT, Fe, g, ATl T, Tl 3T qHa THE Fd g AT STe<l A5l 1% ST g1 /7 § 2l
A, G T UHATS WS 2, ST E 7 1T 21 E ST I14T HF e (d 9 D FT T3 2, FSF T 47 762 21 F 577 9% W7 962 7gl Fear g ag Hfr ag g ST B v
g g ST AT WM THE FdT g1 E, AT 7 08 F:2ar g1 G 3T H T FHHLT: gL 3T T 47 091 8l

Q-35  Whois the father of D?
enghin D T fOar &7 22

01. G 02. H
03. B 04. A
05. None of these
TAH HHE qol
Solution for Question 35 AnsKey: 1
SEN A+ G (+) — H(-) ——= B(+/)

(white/THa ) (green/8T)(Yellow/did) (Red/ald)

/



D(+) F(-)
(grey/Y) (Black/ &Il )

EG) (Blue/ TeT )
Q-36  Who likes Black colour?
eng hin e T R qE= 2
01. A 02. G
03. H 04. F
05. None of these
AN A IS T
Solution for Question 36 Ans Key: 4
x
T A G (+) — H(-) ——= B(+/-)
(white/GWH5 ) (green/8XT)(Yellow/dldll) (Red/dTd)
D(+) F(-)
(grey/™) (Black/ &Idl )
.
Ei_+} (Blue ¢l )
Q-37  How many male members in the family?
eng hin ¥ T ﬁﬁﬁﬁ‘?ﬁ?’
01. 3 02. 2
03. 4o0r5 04. 1
43T5
05. None of these
TAH F TS TR
Solution for Question 37 Ans Key: 3
eng hin T . G (+) — H() _ - B(+/-)
(white/&Ith< ) (green/8XT)(Yellow/Uldl) (Red/dlld)
¥
D(+) F(-)
(grey/) (Black/ &Il )
E) (Blue/ =TeT )
Q-38  Who likes blue colour?
eng hin 7ot 31 Fher a2
01. A 02. B
03. E 04. D
05. None of these
TR TS AL
Solution for Question 38 Ans Key: 3

eng hin

A(+) G(+) — H(-) —— B(+/-)
(white/THa ) (green/8T)(Yellow/did) (Red/ald)

/

D(+) F()
(grey [ (Black/ Il )



\

E(+) (Blue/ Hldl)

Passage for Question 39, 40 (ST-IBPCRRBCLERKPREEXAMSHIFT-2(39-40R)2020)
eng hin Passage

Study the following information carefully and answer the questions given below.

fafafaa srasrd &1 samgd® sregaa w2 TR ooyt ® s

A is in north of C who is north east of G. G starts walking east and walk 4 m then take two consecutive left turns and meets C.

A, CF3ITCH G S AT G F IT-TF | g1 G I T TTF TAAT TTLH FAT & ¥ 4 HF T T A F 912 a7 7 ATaTE 976 /i {2971 & o7 C & fHerar g1

Q-39  In which direction G starts walking?
enghin G & ot & =t amst F2ar 22

01. North 02. South
I afaror
03. East 04. West
=@ ot
05. None of these
TAH T FIS ARl
Solution for Question 39 Ans Key: 3
A
|
- C - - -
/ b
G S
Q-40  Whatis the position of A with respect to G?
G g7aH § AT &1 FT 2?2
01. North 02. South
I Zferor
03. North-east 04. South-west
IAT-TF Freror-afarm
05. None of these
TAH HHE Tol
Solution for Question 40 Ans Key: 3
eng hin f-’f
| PR
/ :
G __________________ -
Q-41 The compound interest on a certain sum at the rate of 5 p.c.p.a after 3 years is Rs. 1324.05. What is simple interest?
enghin  TF [P T 9% 3 a9 § 5 T.o0.9.9. &1 37§ T (5 1324.05 1 ATGTIOT TS 74T 22
01. Rs. 1260 02. Rs. 1560
1260 =. 1560 =.
03. Rs. 1160 04. Rs. 1360
1160 &. 1360 &.
05. None of these
N
Solution for Question 41 Ans Key: 1

enghin Rs.1
(21 21 21 1“;_1261

gy b gy~ T PN L e




Q-42

eng hin

20 20 20 ") 8000
Rs. 1 on simple interest =3x3
100
Simple interest _ ix 2000 _ 1200
Compound interest 20 1221 1261
1200

1261

Simple interest = %1324.05

Rs. 1260
18 R Thdgrd sIIeT =
(21 _21_21 1\ 1261
RS, R S ] =
20 20 20 ) 8000
_3x3
1%, 9 HIYROT &qTef = -
100
Simple interest 3 XSOUO _ 1200
Compound interest 20 1221 1261

_ 1200
HIEROT SATST =22 1324 03
1261

1260 .

Speed of boat is Skm/hr. in still water and the speed of the stream is 3 km/hr. if the boat takes 3 hours to go to a distance place and come back find the

distance between the place.

o STt ¥ e 7 =1t 5 fefi/eie & amen v =wer 3 el @ e arer 7 S # irT ares o 7 3 5 o @ A AT e o e A gl A

01. 3.75km
3.75 &4

03. 45km
4.5 T,

05. None of these
TAH T ATE Tol

Solution for Question 42

Q-43

02.

04.

4 km

4 T

4.8 km
4.8 T,

Ans Key: 4

A, B, C and D are four milkman they takes a grassland on rent and uses this grassland for goat farming. A keeps 22 goats for 3 months , B keeps 16 goats
for 6 months , C keeps 33 goats for 5 months and D keeps 27 goats for 4 months . If the rent given by A is 660 rupees ,then find the total rent of the

grassland ?

A,B,C 3T DA ZEATA & ST U =9 T 4G9 78 9% A0 ¢ 3T T 30 o 5 TG F7 ITAR TR 1-074 % o7 #3708 | A, 22 T/ 3
T F B, l6 TRiAT 6 AT8 o o ; €, 33 afAT 5 ATg o o &fie D, 27 AT 4 A = oy waar € | 7R A, 660 =03 TFeram gar @ ar

HTE % HaT %7 e (AT haar & 2

01. 4350 rupees
4350 =9

03. 3480 rupees
3480 T

05. None of these

T ATE TE

Solution for Question 43

eng hin

Q-44

eng hin

02.

04.

5230 rupees
5230 =9F

6000 rupees
6000 &

A:B:C:D=22%3:16%6:33x5:27x4 =66:96:165:108

66 ratio = 660 rupees
1 ratio = 10 rupees

Total rent = ( 66 + 96 + 165 + 108 ) x 10 =435 x 10 = 4350 rupees

A:B:C:D=22x3:16%6:33x5:27x4 =66:96:165:108

66 ST = 660 TR
1 31 = 10 T

T FoRTET = (66 + 96 + 165 + 108 ) x 10 =435 x 10 = 4350 71

Ans Key: 1

A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture weighs 480 gm,

then find the percentage of liquid 1 in the mixture?

T TS &7 e gard A 7T B &7 ferar 81 7fw 1 sfiex Asr 91w 1 et Stafe B &7 912 800 I 81 =i srer sfex firsyor =1 9w 480 a9 8,

AT freror § v A o wiaera g 2



01. 85% 02. 70%
03. 75% 04. 80%
05. None of these

T HTE TET

Solution for Question 44

eng hin

Q-45

eng hin

1000 800
960
160 40 = 41

percentage of liquid 1 = LN ==80%

4+1

T 1 FIRET = 7 — 80%
4+1

A is 30% more efficient than B. How much time will they, working together, take to complete a job which A alone could have done in 23 days?

A, B FT TAAT H 30% A3 FoUeT 1 TF AT FTH FIA § Ieg ohaaT THT TN, ST A s7her 23 &A1 # FH7 qehar =2

01. 11 02. 13
03. 201 04. 15

05. None of these
TTH A FIE TET

Solution for Question 45

Q-46

eng hin

Ratio of times taken by A and B =100: 130 =10: 13,
Suppose B takes x days to do the work.
then, 10: 13 ::23:x

(e}

31 = i S

A’s 1 day work =_—_
B’s 1 day work = _n
100

A and B together can complete the job in 13 days.

A B = 100: 130 = 10: 13 R T 121 S 1 ST
AT TSI B 1 %1 T 1 x o & &
a,
10: 13 ::23:x
23x13 299

2L = ="

A® T A mEm = |

B o1 Tk e b =

9y

A 3B fieret 13 Tt o s 0 & wed €l

What value will come in place of qusestion mark (?) in the following questions?
fAafrfag vt & wwarss (2eg (2) F =79 TTFAT AT SAIMT?

821+644=7+6.2

01. 8.95 02. 6.45
03. 5.95 04. 735
05. 8.45

Solution for Question 46

eng hin

Q-47

eng hin

?7=28.45

What will come in place of question mark (?) in the following question?
fraforfaa v & wxaras {78 (2) F AT qTHT AAM?

199 x 19 x 9 -9099 =?

01. 24390 02. 23940
03. 29340 04. 24930
05. None of these

Ans Key: 4

Ans Key: 2

Ans Key: 5



T q TS AL
Solution for Question 47

eng hin 34029 - 9099 = ?
?=124930

Q-48 What value will come in the place of question mark in the following questions:

enghin  ERTET vt & worar=s feg F e19 TXFATATA AT 2

260 + 836 + 509 + 1001 =?

01. 2404 02. 2505
03. 2606 04. 2106
05. 2600

Solution for Question 48

enghin  ?=2606

Q-49 What value will come in the place of question mark in the following questions:

enghin fEfrfaa vt & weyar=s faeg F 19 TXFAT AT ArAIT 2

814 +519+23+289="7

01. 1694 02. 1652
03. 1665 04. 1645
0s. Nou\le\of these
TAH A FS ol
Solution for Question 49

?7=1645

Q-50 What value will come in the place of question mark in the following questions:

Frerforfaa vt § wrar=s {28 % ©79 I FT /19 A2 2

810+ 505 +312="7+48.98

01. 1857.03 02. 1578.02
03. 1778.04 04. 1587.02
05. None of these
TAH F HIS T2
Solution for Question 50

?=1627 - 48.98
?7=1578.02

Q-51  What value will come in the place of question mark in the following questions:

enghin  FRETTET ot & worar=r =g F e 9T FATATA AF T2

916 +926 +21 =2+ 89

01. 916 02. 926
03. 912 04. 932
05. 929

Solution for Question 51

enghin ?=1015-89
?7=926

Q-52  What value will come in the place of question mark in the following questions:

eng hin  FRETET ot & werar=r =g % T 9T FATATA AF AT 2

777 +88+9=2?+100

01. 774 02. 763
03. 779 04. 757

Ans Key: 4

Ans Key: 3

Ans Key: 4

Ans Key: 2

Ans Key: 2



05. None of these
TH TS ALY
Solution for Question 52

enghin ?=874-100
=774

Q-53 What value will come in place of qusestion mark (?) in the following questions?
enghin fAEFTET vt & warar=s feg (2) F AT TTFATATT AAM?

72+86+93+102+ 118+ 128="7

01. 599 02. 591
03. 594 04. 598
05. 596

Solution for Question 53

enghin 599

Q-54  What value will come in place of qusestion mark (?) in the following questions?
enghin  affaa vt & warar=+ feg (2) F =T ITFATATT AAMM?

5531 +46.21 +?7=157.5 +46.35

01. 102.33 02. 103.32
03. 102.39 04. 103.22
05. 102.35

Solution for Question 54
?7=203.85-101.52
=102.33

Q-55 Find wrong number in the following number series-
o GedT QAT § TAT G&AT AT HIT94 -

2035 2520 3055 3645 4275
01. 2520 02. 3645
03. 3055 04. 2035
05. 4275

Solution for Question 55

2035 2520 3055 3640 4275
452+10 502420 552430 602440 652450

Q-56  Find the wrong number in the following number series.
enghin AT dear Ear# a7 v 710 5T

180 184 552 568 2842 2876
01. 2842 02. 568
03. 180 04. 184
05. 2876
Solution for Question 56
enghin 180 184 552 568 2840 2876
+22 x3 42 x5 +67

Q-57 What should come in place of question mark (?) in the following number series?
enghin 719 T AT FAT @ATH AT (=TT (2) F €ATT TTFITATA YT ?

26 59 129 271 559 1137 ?

01. 2295 02. 2205
03. 1517 04. 2212

Ans Key: 1

Ans Key: 1

Ans Key: 1

Ans Key: 2

Ans Key: 1



05. 2297

Solution for Question 57 Ans Key: 5
enghin = 22 +7 22+11,%x2+13,x2+17.x2+19,x2+23
Answer = (1137 x2) +23 = 2297
I = (1137 x2) 423 = 2297
Q-58 What should come in place of question mark (?) in the following number series?
enghin  #1= T TAT H&ATH@ATH THATF (A (?) F AT TTHFAT AT ST 2
-1 0 10 65 345 1750 ?
01. 8750 02. 10500
03. 10530 04. 8780
05. 9230
Solution for Question 58 Ans Key: 4
enghin  11x5 +2%5 +3%5 +4%5,+5%5,+6%5
= (1750 + 6) x 5=28780
Q-59 What should come in place of question mark (?) in the following number series?
= AT d=AaT gEATH IFATHS HET (2) F TITH TTFATHTH AT 2
12 6 9 22.5 78.75 354375 ?
01. 14523755 02. 1949.0625
03. 1728.0525 04. 1594.6875
05. 2303.4375
Solution for Question 59 Ans Key: 2
<0.5.x1.5.x2.5 %x3.5.x4.5. %55
Answer = 354.375 x 5.5 =1949.0625
JAL= 354.375 x 5.5 =1949.0625
Q-60 A side of equilateral triangle is 8 cm. What is the area of triangle?
T HHATE F]ST T ST 8 THT. 5| ST &7 &1=he T T2
01. legmz 02. 15“{:m2
16 Hr.2 15 1 Hr.2
03. 17JE m2 04. 14J?ln2
175 Hr.2 14 5 HT.2
05. None of these
TAH F ATE TRl
Ans Key: 1

Solution for Question 60

eng hin  Area of equilateral triangle =
g(a}2
B
e S T
: (&
=1643
= 16sq.m
GUETE T & =
g(a):
B
— Ry
3 (8
=163
16397 #Y.

Q-61  The difference between 87% and 71% of a number is 448. What is 59% of that number?
enghin T &A1 % 87% 3T 71% F A= ¥ 448 T I HEAT HT 59% FATE ?



01. 1582 02. 1528
03. 1586 04. 1592

05. None of these
TAH HFIS Aol

Solution for Question 61 Ans Key: 5

eng hin

Q-62

eng hin

Number = 8 100= 2800
16

Required value = 2800 % 59%
=1652
e = %xmo =2800
37+Te 7T = 2800 x 59%

=1652

Two trains 190m long and 230m long runs with the speed of 35 km/hr and 55 km/hr in the same side. In how many time faster a train crosses the slower
train?

190 Ht. 72T 230 e Fwelt a7 TeriEat waer: 35 Rt mver sie 55 frdY./aver & v £ faom § = T2¥ 81 a7 et i+l I v Chaw qw §
Y T o2

01. 80.3cm 02. 75.6cm
80.3 . 75.6 7.

03. 64.6cm 04. 54.5cm

64.69. 5459

05. None of these
T | FIS A5l

Solution for Question 62 Ans Key: 2

Q-63

Relative speed = 55-35=20 km/hr.

=20x —_ m/sec.

YT ATel = 55-35=20 fal. /Ever
=20x — #L/4.

In what ratio must a shopkeeper have to mix the two varieties of rice costing Rs 28 and Rs 40 per kg respectively so as to get a mixture worth Rs 36 per
kg ?

T STqUTa § THRTART 0 ATal it &1 Fohew| i1 Fen: 28 =9 =T 40 =% i Fhett o fowma & feman gr , avf 36 = wfa et & Rama &
forer =% 2

=}
—_
=
[NOREEEN |
= =
&~ N
[V )
W

05. None of these

Solution for Question 63 Ans Key: 3

eng hin

Q-64

eng hin

Required Ratio = (40 —36):(36—-28)=4:8 =1:2
F U = (40-36):(36-28)=4:8 =1:2

The ratio of speeds of A is to B is 2:3 and therefore A takes 20 minutes less time than B takes. What is the ratio of time taken by A and B?
AT BT ATAT | 2 1 3 FT AT g 3T THT A, B H 20 F6¥ F7 q97 a7 g1 A 31T B T o0 70 7977 § 47 Squra ¢ 2

01. 12 02. 2:1
03. 23 04. 32
05. None of these

TH HHTE TE

Solution for Question 64 Ans Key: 4

eng hin

Let speed of A and B is 2x and 3x respectively,

So time taken by A and B is 3x and 2x respectively.

Hence, 3x-2x=20=> x= 20

Ratio between time taken by A and B =A: B=60:40=>3:2

Short trick — Ratio of time taken =——~ 1/(Ratio of speed )
Ratio of speed
HHT A 3B I =16 ST 2x F 3x R


mailto:fdeh-@?k.Vk

q: A 3T B gRT oA T2 Tma SR 3x S 2x R
,3x-2x =20=>x=20
A B R oI 7T¢ &9 3 i STgaT =60: 40 => 3: 2

Q-65

eng hin

The average age of a man and his son is 45 years. The ratio of their age is 2 : 1 respectively. What is the son's age?

U SAT<h ST 386 T T AT 3 45 9 & ST AT AT T STITT HH: 2 2 1 7, T T ¥ 31 FAT 2

01. 20 years 02. 25 years
20 F9 2599

03. 30 years 04. 35 years
3099 3599

05. None of these
TAH HFS Tl

Solution for Question 65 Ans Key: 3

eng hin

Q-66

Let the age of father and son 2x and x respectively.
2x +x=45x%2

3x=90

x =30

Son's age = 30 years

AT fOdT IR G B MY B 2x MR x B
2x+x=45x2

3x =90

x=30

g3 @I MY =30 a¥

The C.P. of 40 articles is equal to S.P. of 50 articles. Find the gain or loss percent?
40 FEGHAT T HT ToT ,50 TEAT 6 (6T oF F a¥ray g1 AT T T Traerd 7 T 2

01. Profit of 16% 02. TLoss of 16%
16% FT ATH 16% =T 2T

03. Profit of 20% 04. Loss of20%
20% T ATH 20% T g

05. None of these
T H FE ALl

Solution for Question 66 Ans Key: 4

Q-67

1000024

I

% profit/ loss= =-20%

So, loss of 20%

a: 20%£rarﬁ§3‘-_

Average weight of a group of 15 members is increased by 850 grams when a new person of weight 72 Kg joined the group. Find the sum of weight of all
members in group earlier.

15 9T & HHE & A€ doid 850 UTH & ST g Stel 72 o6l (UTH a9 6T Uk G971 Al<h 99 H ATHA g1 ST g1 gl THg H qHT da€d1 6
T FT TR ST T

01. 875 02. 752
03. 899 04. 795
05. None of these

T ATE TE

Solution for Question 67 Ans Key: 5

eng hin

15x+72=16(x+0.85)

On solving x=58.4

Required answer=15x58.4=876 Kg
15x+72=16(x+0.85)

T A T x=58.4

3TTE I=15x58.4=876 fora.

Q-68

eng hin

What approximate value should come in the place of question mark (?) in the following equations?

At adiwont & wyar=s T (2) F 19 I ATATHT AT FIT AT AT

(2904 +34.95-12.99) x 5.96 =?



01. 380 02. 400

03. 420 04. 440

05. 460
Solution for Question 68 Ans Key: 3
enghin (83-13)x6="?

?7=420

Q-69 What approximate value should come in the place of question mark (?) in the following equations?

enghin  TrEforfa GEFT & war=s fed (2) F 919 T ATATNT A1 F47 A7 A7fRe?

01. 180 02. 210

03. 260 04. 320

05. 350
Solution for Question 69 Ans Key: 1
eng hin 44.4 x 0.555 + m =?

25+ 155=180

Q-70 What approximate value should come in the place of question mark (?) in the following equations?

Fraforfaa adfiwzod § wrar=as e (2) F 979 9 Agar=a 979 47 A1 A1 q?
2874.78% of 124.06 =26 =7

01. 650 02. 680
03. 710 04. 740
05. 780
Solution for Question 70 Ans Key: 3
3565 .. 26 — 9
713 =7

Q-71 What approximate value will come in place of question mark (?) in the following questions?
faforfaa wari & wrares (g (2) F =T T ATMHTA FIT AT ATTIT?

70.232+19.89% + 9.982 + 31.622 = (?)2

01. 60 02. 65
03. 70 04. 75
05. 80
Solution for Question 71 Ans Key: 5

eng hin 4900 + 400 + 100 + 1000 = 6400
?7=80

Q-72 What approximate value should come in place of question mark (?) in the following question?
enghin AT w7 & wyar=s feg (2) F ATT TTATAT FIT AT ATAT?

110.99 + 111.011 +37.01 x 2.999 +44.99% of 180 ="?

01. 394 02. 484
03. 424 04. 414
05. 464
Solution for Question 72 Ans Key: 4

enghin 111+111+111+81=2
414=2

Passage for Question 73, 74, 75, 76 (SHIFT-05SIBPSRRBBCLPREEXAM(1-4M)2020)
eng hin Passage

Six shopkeepers Lakhan, Manoj, Naimish, Omprakash, Pramod and Quraishi sold milk mixture which made by mixing three items that is milk,
water and milk powder. The following table shows the total quantities sold by these shopkeepers and the ratios of milk, water and powder in milk



;g %u;??rart G, AATS, 7 (AT, SUATHTL, TAIE AT HLAT T I TR0 IATIT AT aoq A0 &, TTH1 MG TISSTCHT (HATH FATAT AT
oTI T FTFIET ST IHTAITA G T T 7 ATAT AT Y U7 & g1, I ST ITSTH ATITT HT ILqTAT R

Shopkeepers | Total quantity of milk mixture | Milk : Water : Powder IR a4 feeror <61 @t w7 e T 9138
Lakhan 80370 25:23:9 wET 80370 25:23:9
Manoj 61050 19215521 LEIE | 61050 19:15:21
Naimish 77490 23:18:22 A 77490 23:18:22

Omprakash 61880 21:23:24 HTTIHET 61880 21:23:24
Pramod 73130 25:24:22 aq1E 73130 25:24:22
Quraishi 93160 3:5:9 FAIM 93160 F25ED

Q-73 What is the total quantity of pure milk sold by shopkeeper Lakhan and Manoj together?

eng hin

01. 54320
03. 55300
05. None of these
TAH H IS Tl
Solution for Question 73

quantity of milk sold by Lakhan —

quantity of milk sold by Manoj —

Total = 35250 + 21090 = 56340

TG G Sl 7T 381 3 el Al =

IS G ST 17 g8 1 el HE —

::‘.

Lh

AT = 35250 + 21090 = 56340

Q-74

01. 2860
03. 3130
05. None of these

T W ATE TE|

Solution for Question 74

80370

57
61050

02. 56340
04. 49350

M
I

LFS]

N

19=21090

19=21090

02. 2250
04. 3090

-
L

TR TG AT TAST ZIT T ST ATeAT [ T T FH ATAT et 82

What is the difference between the total quantity of pure milk and powder sold by shopkeeper Pramod?
TR THIG IT AT ST ATAT §[F T 37T ITSSY T /el AT | F4T 3T g2

Ans Key: 2

Ans Key: 4

73130

Bt __gifon: o

(25+24+22) 7 7
_ 731303
B
=3090

eng hin

Q-75

eng hin  shopkeeper Quraishi?

01. 16.25%
03. 16.50%

05. None of these
TAH H FIS o]

02. 18%

04. 18.25%

The total quantity of milk sold by shopkeeper Omprakash is approximately what per cent more/less that the total quantity of milk mixture sold by

THTAETE SAHTHT FIT o= ST AT 5 1 el ATAT FHIETL H AT GIT A= ST ATt 8 6 TH0T T ATAT & AT a1 TIdera ATere/F 22



Solution for Question 75 Ans Key: 1
eng hin
& quantity of milk sold by Omprakash — % %»21=19110
quantity of milk sold by Quraishi = 93160 %3 =16440
Required% = 1911018440 1 50=257 »100=16.25%
16440 16440
: 61880
SAFTRTT G sf=ff 175 g8 1 /e = g %x21=19110
: 93160
Lt g st 7S e T A = — % 3= 16440
19110 -16440 2670

anfiE, = x100=- 4"4 % 100 =16.25%
Q-76 The total quantity of water sold by shopkeeper Lakhan is approximately what per cent of the total quantity of milk sold by him?
eng hin  THTAETE TG FIT A= ST AT TTAT 61 FH HTAT 6 FTT = T Z T ST et Tfcerd &2

01. 88% 02. 96%

03. 92% 04. 98%

0S. None of these

TAH F ATE T2

Solution for Question 76 Ans Key: 3

eng hin

Passage for Question 77, 78, 79, 80 (SHIFT-0SIBPSRRBBCLPREEXAM(5-8M)2020)

=" 100

=

| b

I
WO
{ ]
=]
o

eng hin Passage

In the following line-graph information about average marks of math and English and marks of math obtained by various girls has been given. Study
the data carefully and answer the questions given below.
frafafag wrew-ars ® fafs aefra gror ara wftrg s < siasf 3 shaa siwi shxwfora & d1 F TR & AEHTA AT | AFSTHT
SATATH & AEIIT L AT AT FITTT I F IATR|

a5
94
93
92
91

Average marks of Maths and English & Total marks of Maths

- W

FFYFIEEBBERETERS
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Anita Shivani Prachi Komal Ananya Saumya Suman

A AR IS F ET I A0 H F A
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Far Rt Wt @m0 FRwm ®@Fr g

Q-77 If the maximum marks of math and English is 100 then find out what percentage of marks did Shivani get in English?

eng hin  TTOTT & SEISAT T STfAaw s 7t 100 21 AT G B et 1 st # fhae gfderd sie frer2aiorg = syt 1 stfershaw si= {3 100 21

ST Hrford FaTt v SRSt # e afqera s e

01. 82.5% 02. 82%
03. 72.5% 04. 72%
05. None of these
o B
Solution for Question 77 Ans Key: 4
eng hin  Marks obtained by Shivani in English = 82.5x2-93 =72
Required percentage =72 x100="72%
100
Rt =1 STt d w376 = 82.5%2-93 = 72
e giawa =2 x100 =72%
100
Q-78  What s the ratio of marks obtained by Prachi and Ananya in English?
TTHT ST AT T SSIT § ITH ST T ATIT F47 22
01. 39:37 02. 41:39
03. 41:37 04. 35:37
05. None of these
TAH qATE TRl
Solution for Question 78 Ans Key: 1
Marks obtained by Prachi in English = 92%2-86.5 =97.5
Marks obtained by Ananya in English = 86x2-79.5 = 92.5
Required ratio = 97.5: 92.5 = 39: 37
gl T 3PS A 9T 3id = 92x2-86.5=97.5
HATAT F IS A UIed IHF = 86x2-79.5=92.5
HTERIH T = 97.5:92.5 = 39: 37
Q-79 What is the average of marks obtained by Prachi, Komal, Ananya and Suman in Math?
O | T, A, STAT ¥ AT I ITH i1 H7 SEd F47 82
01. 84.125 02. 845
03. 84.375 04. 84.25
05. None of these
TAH FATE TRl
Solution for Question 79 Ans Key: 3
eng hin Required average = 86.5+83.5+79.5488 _ g4 375
4
HETH AT = =84.375
Q-80 Obtained marks in English by Shivani is what percentage of marks obtained in English by Suman?
eng hin  TETAT T SRS # UTH 3/, THT T SUST H TTH 3F 7 fhaar graad 22
01. 82.25% 02. 91.34%
03. 78.56% 04. 73.46%
05. None of these
L i
Solution for Question 80 Ans Key: 4

eng hin  Marks obtained by Shivani in English = 82.5%2-93 =72






